
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Negative Exponenten von 10

671 × 10 =(−2) −3 × 10 =(−3)

−1 × 10 =(−1) 8 × 10 =

10 =(−1) 2 × 10 =

1 × 10 = 10 =(−3)

10 =(−2) 9 × 10 =(−3)

435, 8 × 10 =(−2) 4 × 10 =(−1)

−2 × 10 = 10 =(−4)

516, 2 ÷ 10 =(−3) 325, 6 × 10 =(−4)

3 × 10 =0 10 =(−1)

880, 2 ÷ 10 =(−3) 547, 6 ÷ 10 =(−2)

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Negative Exponenten von 10

671 × 10 = 6.71(−2) −3 × 10 = −0.003(−3)

−1 × 10 = −0.1(−1) 8 × 10 = 80

10 = 0.1(−1) 2 × 10 = 20

1 × 10 = 10 10 = 0.001(−3)

10 = 0.01(−2) 9 × 10 = 0.009(−3)

435, 8 × 10 = 4.358(−2) 4 × 10 = 0.4(−1)

−2 × 10 = −20 10 = 0.0001(−4)

516, 2 ÷ 10 = 516200(−3) 325, 6 × 10 = 0.03256(−4)

3 × 10 = 30 10 = 0.1(−1)

880, 2 ÷ 10 = 880200(−3) 547, 6 ÷ 10 = 54760(−2)
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